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Solutions

4. What is the unknown angle measure in each
triangle?
a) x —~ +35+ 2S =130
— |80
350 75° x+“o =180 —IIO
o - tte =\
o>+ o
% — ?‘O
= |80
b) 6 Vv + 2% + 65
9o = |89
¢ V) + 2o — 9o
o a0 =
+
‘?ﬁ =90
qg = 1382
c) 98° =z + L;-:Z+ 8( 20
142 =197 o e
@ 2 e 1e2 =180
= =352
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5. The measures of two angles in a triangle are
given. What is the measure of the third angle?

¢) 39° and 39°
~ 4+ 4A+ 62 = 189

L =18e
i+ut——tu=i30 L

)

> = 617
Lz = (85
X.“'/éq N = | Q0 (69
- (64 =
;44-(60
= Il

a) 49° and 62° = HRe 1SS cvgle
b) 57° and 112° Ld’ x m 3

7. What are the unknown angle measures
in each isosceles triangle?

Do + 38 = 180

78°

—

z o
o = 5|
b) 1240 b b-f—lo‘f-(?}%:'go
2b 4 124 = 182
Zb + 124 — 2%
z b = sb
2- Zo
b:?g
i s +c+81=18
81° Zc+8|=|8i>
: Z2c 8 — 87
= aa
Z< T =

2 o
C = qu,s

= /9%
Lo =

a5 o tont FS8 =80

=80 — [+

(go — &l
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8. The measure of one angle in an isosceles
triangle is given. The other two angles are
equal. What 1s the measure of each equal
angle? L% > = ,{e\e eql,{a‘ m®/€
a) 36°
b) 88°
e)iL55T

d‘) >c 4+ 2< +36 = (8o

= + 36 = (& —
§;<4-36"36=|8O %

— (LY
2= g
- =22

b) x4—7<.+3?_

2x = 2AZ
z [—4
80
> o + 165 = 18O
2 = 22
- 2z
< = (2.5°
11. Find the unknown angle 12. Two angles in a right triangle are equal.

measure in the triangle. Find the measure of each equal angle.

e f,aq e | K'eca‘:l As hove @
b’ - P rl.ﬁk 0[0° apsle.
UQ+¢10+6°I=180 let X<~ 8727\'{9‘3'

qQ = | 80
(D + =3

— 9o = |80
b\),(—\Sq olS > +Qo= (8O _ac
w = Za 2x +90 -0 =180
= QO
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13. A triangle has three equal angles. What are
their measures?

[ ok = = <gqual angles.

14. A building casts a shadow on a sunny day.

a) Use the diagram to find the measure of
the unknown angle x.

b) What happens to the angles in the triangle
as the sun climbs higher in the sky?

ooooog
oooooon
oooooon

35° i

+ |25 = (8O
x...:’ZS—I’Z—S = |80~ 127

SOz Righe/
o A’S Hhe Sun 9@#-:” déZfeg\SGS.
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15. Can two angles in a triangle each measure
95°? Explain.

Na ! Reason: 2 x5 = 190°
> The AJHree o\rglej r:f\"'d"“{""‘t‘?:
dota| 18° ino Frange:

16. How many acute angles can a triangle
have? Explain.

//7nfee,./ There a@ M) Pas:s-;b;li'ha'
(af Moo AnbeT Jesrs Hon dO
’f'o’r'a“l'ng (BO.

Eo. 80,60,4°

o 4/5/ 35/50

17. Part of the roof of a house looks like a o
triangle. The angle at the top is 118°, as 4 ng

shown in the diagram. The other two of ™ W
angles are equal. Find each of these angles. 7<\ Kx -

[et x = ea,ma/ anglles

= | BO
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18. The angles in a triangle have measures of x,
2x, and 3x degrees. Find the values of the
anglc measures.

= + 2x< +3x = (80

Lx =189

& e
& = 30 = /‘\qe_\

= 2T (z2) orﬁ o ard:
22 = 69

= :3(30>
—> §;= 90

19. A totem pole is supported by two wires.
Each wire makes a 68° angle with the
ground. Find the unknown angle in each
triangle.

> + &8 +0 =8‘85:3
x + 58 = 180 _
< + 158 =158 = 80~ 155

= 22 [
” Unkne! argle '

=2 ach Ariangle z*
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20. Two triangles have different sizes. Each
triangle has a 60° angle and an 80° angle.
What can you conclude about the two
triangles? Explain.

The JAired q/\a/Q in each argle

21. Home plate on a baseball diamond is in the
shape of an irregular pentagon, as shown in 2o<
the diagram.

>< >
What are the five internal angles on home 20
plate? > +X + o = =
T 4 = 182
2x L(— LY

> = &>
¥ R b Ao’
QR and JEATS
Q" TR Fand bo: S +qo
= 135°
js 22X
T f_ 2(‘-&5>

:CIO
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